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3B wegd A Tsing =mg > T = —% a1
2. Ny 0
A4 : THsin30°= W (1)
31U : Thcos30°= T, )
(1)/(2) t@an30° = X
1
W = Tltan30°
= 10,/’)(L):10N
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@4 : 2Tsinl5°= mg
mg=550N 2T 025 = 550
T = 1100N @ou 4
4. 3B 103l cos6 =20 =06 - 6 =53
@3 : 2Tsin53° = mg
A
2T(§) = 160
T = 100N @ou 1

mg =160 N

L=12m
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n =2
T:T, = 2:1
400 kg Aoy 2

6.
UUI x :mygcos30° = msg
3
ml(g) =3
m; = 23 kg
BUQ y : mygcos60° = myg
o5)E) -
, m mg
1Y x ! m, = 3 kg
MU m; =243 kg 112 m, = /3 kg
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4 x 93 2 : x% = 122452
x = 13N
12N
X
sUn 51U 2

www.physicsfarm.org



iy C:

=
=
vs)

=
=
vo)

Wand u.Uang : aunana Q

1y B : @3 : Tycos30° = 90

Tl(g) = 90
D T, = 603 N
' . T; 60°
00: l600
'B'T2<C|‘ du B: 31 : T, = T;sin30°
T, = (6043)(3)
Y Y
T, = 303 N
90 N w

51 : T3sin60° = T, — T3(—) =303 — T3 =60N

A4 : W = T3c0860° — W = 60(

931

A9

Uy A : 37U : Tycos60°

T,cos30°
J3

= 3T, —(1)

= myg+T»,sin30°

2+T2(%)

= 2N

2/3 N

|

T,c0s30° = T3c0s60° — 2(@ = T3(l) - T3 =23 N

—>mp = 0.4kg
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N; =5c0s30 =

N, = 5sin30 = 5
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N;-Nj = 5(@ -2
=2 _
-3(5-1)
N;-N, = 1.83N
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: Rysin45° = R,sin30°

of2)

A4 : Rycos45°+R,c0830°= W

Ry(4) > Ra=VZ Ry (D

Rl(g)+(ﬁRl)(§) = 30
R; = 15N
W=30N
fnoy 1
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